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Part — III
COMPLUTER SCIENCE

Maximum : 60 Scores

/ General Instructions to Candidates : \

MI@G3Ud6BBUB :

There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.
You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.

Use the ‘cool-off time” to get familiar with questions and to plan your answers.
Read questions carefully before answering.

All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answeted froim the same
question itself.

Calculations, figures and graphs should be shown in the answer sheetitself.
Malavalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable cal€ulators are not allowed in the
Examination Hall.
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1. When atcessing structure member, the identifier to the left of the dot operator is the
name of

(a) structure member
(b) astructure tag
(c) astructure variable

(d) the keyword struct (Score : 1)

2. (a) Identify the error in the following C++ program and correct it.
#include<iostream.h>
#include<conio.h>

void main( )

{

clrser();
int num;
ofstream outfile;
for(int 1=0; 1<=5; i++)
{
cin>>num,

outfile <<num<<*A\n";

}

outfile close;

getch( );
} (Scores : 4)
OR
(b) Explain any four /O error handling functions in C++. (Scores : 4)

3. State the distributive property of Boolean algebra and verify it using truth table.(Scores : 5)

4.  Pick the odd one out :

(a) Create

(b) Select

(c) Update

(d) Insert ) (Score : 1)
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Structure member access ©aqQemMWd dot operator-6a3  DSELINTNSS
identifier-0ad eaid @RYS)aM).

(a) structure member

(b) astructure tag

(c) astructure variable

(d) the keyword struct (aSea03 : 1)

(a) @9 oo O®Blenm C-— program-9£! Mg HTRID T I
af)®) M) b,
#include<iostream.h>
#include<conio.h>
void main( )

{
clrser( );
int num;
ofstream outfile;
for(int i=0; i<=5; i++)
{
cin>>num:

outfile <<num<<‘“\n";

b

outfile close;
getch( );
} (Wemadav : 4)
@ReLlB:1ad
(b) C++ oo agomsslelle moel O error handling function-20869)01a] ailaidloa)o:.

(aveaodav : 4)

Boolean algebra-alee! distributive property, truth table 9ale@owila] verify oa1q):.

(ed»adav : 5)

B)GODIB AUYDLTVD2OVDDGH]OM HDONETNS}AN D>
(a) Create (b) Select
(¢) Update (d) Insert (Sead : 1)
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Parallel communication is faster than serial communication. Justify.

Name the protocol used to transfer any file from one computer to arathgr.

Predict the output of the following program :

#include<iostream.h>
#include<conio.h>
void main( )

[

int 1;

for(i=0; ;i++)

§
1

if(i>10)

{
cout<<kFT
break;

i

else
if(i==5)
continue;
else

cout<<i;

—— —a—

Match the following :

(1) Writes a single character at a time

(2) Returns the position of the get pointer
(3) Error handling function

(4) A sequence of bytes

(a)
(b)
(©)

(d)

O

good( )
putc( )

stream

tellg( )
eof( )

(Scores : 2)

(Score : 1)

{Scores : 2)

(Scores : 2)



5. Parallel communication, serial communication-emMHNIB  CAUNDCWOIWDIEN).

0390 1BGl80) . (mdemaday : 2)

6. ®e) computer-@@ mlanje 29€Q20) computer-celde  file transfer ©aigo®
901600109 protocol-6a3 eald. (ave»ad : 1)

7. ®09% H&HIS)OMIRNHO)IM program-6ag output {ailailag)d.
#include<iostream.h>
#include<conio.h>

void main( )

{

inti;

for(i=0; ;i++)
I

[}

if(i>10)

{
T

cout<C< RET,
break;

1
f

else
if(i==5)
continue;
else

cout<<i;

.

J

' (neamodav : 2)

8.  Gai®)oals] Gal@HN)d

(1) Writes a single character at a time (a) good()
(2) Returns the position of the get pointer (b) putc()
(3) Error handling function (c) stream
(4) A sequence of bytes (d) tellg()
(e) eof()

(nSedaday : 2)
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Select the expression for absorption law.
(a) ata=0

by l+a=1

() 0a=0

(d) a+ab=a

Identify the error in the following code fragment and correct it :

struct one

{
]

inta;
|5
struct two

]
1

int a;

5

one sl;

two s2;

cin >> s).a;

s2 =sl;

(a) class student

§
1

int regno;

char name [15]:

int age;

float m1, m2, m3, total;

Public:

1.
e

void getdata( );
void calculate( );
void display( );

student st[10];

Consider the above code segment.

(i)
(i1)

(iii)

Identify member data and member functions separately. (Score

How many copies of member functions of student class are created in

memory ? Justify. (Scores :

How many copies of data members are created in memory ? Justify.  (Scores :

OR
6

{Score :

)

{Scores : 2)

HE 3

2)
2)
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Absorption law-@0s €Xpression H@MAOEINS)HN) .
(a) at+a=0 (by l+a=1
(¢) 0a=0 (d) a+ab=a (nedad : 1)

@00¢ ©B05)oMaleayM code fragment-oe1 H®Y HeMOTT GIOYOH af)PION :

struct one

]
l

int a:
i
struct two
{
int a;
IS
one sl;
two s2;
cin >> sl.a;

s2 =sl; (emaday : 2)

(a) class student
{
int regno:
char name [15]:
int age;
float m1, m2, m3gtotal;
Public:
void getdatal );
void ealculgte();
void display( );
b
student st[10}];
DG 305 amIBlAMAM code B0 alRlNEMIHN)B:.
(i) Member data-@)o, member functions-o (alemMydo0 MO0 TGBIHN)D:.
(edad : 1)
(ii) Student class-0d agy® member functions memory-@i@d create ®aigyaM) ?

M300 1B A1 09} B> (mesadav : 2)
(iii) Data members-008 ag@® copy memory-TI® create oalgymMm;
M3001SE199) M. (meaa3ay : 2)
@Reg)m a3

7 P.T.O.



(b) Write a program to define a class book with the following members :

Data Members : book number, title, price, qty and total prize
Member functions :

(1) To assign values to the data members

(11) To calculate the total price

(i11) To display the details. ’ (Scores : 5)

12, Your friend studied only FORTRAN language so he develops programs using this

language. But you know C++, so you develop programs using the basic concepts of
CH++.

(a) How do you differentiate these two programs based on the approach ?  (Scores : 2)

(b) What are the features used in your program ? (Scores : 2)

13. A class which is used only for deriving new class is called
(a) Derived class
(b) Abstract class
(c) = Virtual base class

(d) Base class (Score : 1)

14. The aggregate functioﬁ uséd to findshie total ne. of records is
(a) sum()
(b) count()
(c) total()
(d) max() (Score : 1)

15. How a parameterized constructor is ditferent from a default constructor ? (Scores : 3)

16.  One of the students in your class argued that conventional system of record keeping is
better than using DBMS. Do you agree with this argument ? Justity by giving proper

reasons. (Scores : 3)

7019 8
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14.

15.

16.
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(b) Book ag)am class-@8 ®29¢ alow)an members-om W3OS EWIOGHM BB
80) GLaldWT0 af)P)D)d> :
Data Members : book number, title, price, qty and total prize
Member functions : |
(1)  Data members-a) value assign ©aiq)e.

(11) Total price calculate ®aiq)®.

(ii1) Details display 9213 (mea»23a0 :

Memees a0y FORTRAN language 2062 al0lajlgies,. @rmnddsmd
@woud @r language-@3 6lalo(02)503 develop 9a1gM). aledH M1eERWBA C—
@poloanmmes:0ms  mlaswd C++ oad basic éoncept QU2 ))OBHNE  GLalo(J0
develop e aigyan).

(a) @D M) BLAININGO8Wo af®) ATMIVIG caiddIalen)mmy ? (aUesad3ad
(b) meEBEOS GLAIDWIEHITE OaleWIWTleNM features af)OTMIOBOWASY) 7

(VeI :

al®lw class-om derive 9219008 2(M3alc@IN]BO)IElasSs-OM af)am)

alo@)am).

(a) Derived class (B) Abstract class

(¢) Virtual base class (d) Baseclass (We® 03 :
Record-8)60s af)epe oen2)dilsl9090dg@a icwouilanymm function @Ryer).

(a) sum() {(b) count()

(c) total() (d) max() (ed»aad :

Q) parameterized constructor, default constructor-@d MIaNo  af)EBBOM
Ay ®30aVeaglelanymm, ? (neda3dav

alomMEon®200] record qU)BHIBH)M  @IDIoe DBMS 9aicwaunilan,mmlom-
IO SISO OV |SD eI MBS  class-oer  $HGlHGImW  @82IUD

Q108189)M). MM Q1EeOMIS MIERUd cwolan)mn)esnsd ? (Weaadav :

th
-

:2)

2)

1)

1)

:3)

3)
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Predict the output of the following program :

#include<iostream.h>
#include<conio.h>
void main( )

{

clrser( );

void ff(int *,int *);

int x=25, y=17;

i &x,&y);
cout<<x<<\t"<<y;
getch( );

}

void ff(int *p,int *q)
{

*p = *p *5;
*q=*p+3;

}

In a copy constructor the arguments arefpassed by

(a) value

(b) reference
(c) implicitly
(d) explicitly

Find most suitable match :

A B
(1) Website (a) www.yahoo.com
(2) Portal (b) file with extension .htm

(3) Web page (¢) Protocol

(4) Homepage (d) first page of the web
(5) TCP/IP (¢) www.keralapsc.org

(6) HTML (f) Language

10

(Scores : 2)

(Score: 1)

(Scores : 3)



17. @069 0805 0m1@lan)am program-0§ output (aiiailen)s :
#include<iostream.h>
#include<conio.h>
void main( )

{
clrscr( );
void ff(int *,int *):
int x=25, y=17:
i &x,&y);

- CoUt<<X << <y;
getch();
}
void ff(int *p, int *q)
{
*p=*p*5;
*q=*p+3;

} (nScd23av : 2)

18. 8@} copy constructor-@3 arguments pass a1 AN @y Igoem.
(a) value
(b) reference
(c) implicitly :
(d) explicitly (abead : 1)

19.  agganoe @RM}CWIRYNIW, CRIW] &eN8)allSlon)d: :

A ’ B
(1) Website (a) www.yahoo.com
(2) Portal (b) file with extension .htm

(3) Web page (c) Protocol
(49) Homepage (d) first page of the web
(5) TCP/IP (e) www.keralapsc.org
(6) HTML (f) Language
(nedadav : 3)
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Write SQL commands for the following questions based on the table STUDENT :

STUDENT

No Name | Stipend Stream | AvgMark | Grade | Class l
I |Ram 400.00 | Medical T 55 B 12A
2 | Lal 450.00 | Commerce 67.75 C 11B
3 | Lali 300.00 | Non-medical 78.3 B 12C
4 | Mohan 350.00 | Humanities 87 A 12A
5 | Reghu 400.00 | Commerce 93.2 A 11C
6 | Geetha 500.00 | Medical 190.5 A 12A
7 Subha 425.00 | Commerce 78.3 B 12B
8 | Sobha 550.00 | Medical 87.5 A 12C
9 | Seena 400.00 | Non-medical 77.2 B §LTTSN
10 | Reshma | 300.00 | Humanities 90 A 1°B

(i)  Select all the Non-medical stream students trom STUDENT.
(i) List the names of those students who are in class 12 sortedsy Stipend.
(iii) List all students sorted by AvgMadrk in descending esller.

(iv) To insert a new student it STUDENT tablé and fill the entire column with some

value. (Scores : 4)

In an educational institution, the employees are divided into three categories. The
category name and properties are listed below :

(a) Office Staff :  Employee No, Employee Name, Basic Pay

(b) Lab Technicians : Employee No, Employee Name, Basic Pay, Lab
Experience

(¢) Lectures . Employee No, Employee Name. Basic Pay. Teaching

experience and No. of papers published
The institution started computerization of pay calculation of employees using C++.
Which concept of OOPs is most suitable for representing the above situation ? Give
reason. (Scores : 4)
12



20. ©@o9¢ 9305)0mIalenan G210 emWBed STUDENT table-om anslcunomeqsyom)

SQL commands ag)®)®)d :

STUDENT

No Name | Stipend Stream AvgMark | Grade | Class
I | Ram 400.00 | Medical 75.5 B 12A
2 | Lal 450.00 | Commerce 67.75 C 11B
3 | Lali 300.00 : Non-medical - 78.3 B 12C
4 | Mohan 350.00 | Humanities 87 A 12A
5 | Reghu 400.00 | Commerce 93.2 A 11C
6 | Geetha | 500.00 | Medical 90.5 A 12A
7 | Subha 425.00 | Commerce 78.3 B 12B
8 | Sobha 550.00 | Medical 87.5 A 12C
9 | Seena 400.00 | Non-medical 77.2 B 11A
10 | Reshma 300.00 | Humanities 90 A 12B

(i) STUDENT-@8 mlanjo agejo Non-medical stream )51::9@@20 o®ODENDS)ON)E.

(i) Stipend-oad @eslrunomEmI@d 12-00 class-@3 adl@RN. 5,)51:8}HS eald sort
OAITD GO ST .

(iii)) AvgMark-60§ @RSINLOIMEHIB afif)0 ©)51HHSWeuBRAICAA06M (& DA
sort ©2100) GO |SIONES

(iv) STUDENT table-@3 &@) ~)@len®)slom’nuwboq|s;oml agelo column-ano fill

§21Q) . (mOemadav : 4)

21. &) ail3yoeioqu  qunlalomlal, ®Iumeniee Ml ®oo @1l jldlenyam).

Category-@)6s alo)o @®1HG] property-wjo ajAIOS HdHIS}OWIEH03aM]

(a) Office Staff :  Employee No, Employee Name, Basic Pay

(b) Lab Technicians : Employee No, Employee Name, Basic Pay, Lab
Experience

(¢) Lectures :  Employee No, Employee Name. Basic Pay. Teaching

experience and No. of papers published
M0oalMo RIUMBNIOS MIBo C+t+ 9alcIwla] &MIYSBUEISNGBHHIM ®)S6IB1.
NHGI03 (al®alod]ly) TVIan2l0 E®Ia) @em)cwoR 20w OOPs concept agmaem

B3006Mo (1M aIoB1H0) . (neaadat : 4)
7019 13 P.T.O.



22. Consider the following program :
#include<iostream.h>
#include<conio.h>
void main( )
{
clrser( ); _ _
char nam[]=“ARTIFITIAL INTELLIGENCE”;
for(int i=0; nam[i}!="\0; i++)
cout<<namf[i];
getch( );
}
Rewrite the above program to get the same output using a character pointer variable.

P cores : 3)

23. Explain different stages of System Development Life Cycle wi suitalklv .
' G L (Scores : 5)
6 ‘
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MIOY OIS)ONNA]HN) AN program al@INEMIaN D :
#include<iostream.h>

#include<conio.h>

void main( )

{

clrser( );

char nam[]="ARTIFITIAL INTELLIGENCE™:
for(int i=0; nam[i]!="\0’; i++)

cout<<ném[i];

getch( );

}

Character pointer variable 9aic@oUla] M&SlRIOE® program-m) 1AM GRED

output 15O a6 A1®IWIGE program-am @O af)P)®)d:. (Seamodav : 3)

9allendw diagram-6a§ auand@ea®Ins System Development Life Cyéle-oa3

ailailw stages-omee)01a] AlG1H)o:. (nSeaa@aV : 5)
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